SLIDING BLOCK, BRONZE WITH SOLID LUBRICANT, VDI 3357
PRISMATIC GUIDE, STEEL, VDI 3357

2963.84. Holes for pins
[@12 HT /*16H7
hs o | -
~—(hq) —=— P 55 € 40,01~ .“ o9 |
® N LIl
TR 7 \ ¥ [ ] |
NN / }7 %o e’ | <(i)> " L X
ﬁ?‘\‘§‘\ *J OO0 "I.. ™
& 0 s £ (@ EaY/@ warw/@ . "y °®
- id *7 Y/ B NPA\NY) BN\ R " .-..
AN °®
ONR * SO0 ‘I..'
QNN ® 0 l. |
N 7 N\ / P o9
: | / 30
— - % D5, e [SH ; [ X ] j
] |SOtEng \_ Screws M12 \/ e 8 -
h *Screws M16
DIN EN ISO 4762
2963.84. Sliding block, Bronze with solid lubricant, VDI 3357 Material:
Bronze with solid lubricant, oilless
Number of lubricatin
Order No b h hy hg | e [ d d4 t screw holes 9
2963.84.065.044.0150 65 44 47) 65 150 45 100 20 13.5 20 2 Note:
2063.84.065.044.0200 65 44 (47) 65 200 95 150 20 135 20 2 Screws and pins are not included.
2963.84.065.044.0250 65 44 47) 65 250 145 100 20 135 20 3
2963.84.065.044.08300 65 44 47) 65 300 195 125 20 13.5 20 3 .
2963.84.125.047.0150 125 47 (52) 85 150 45 100 26 1756 15 2 at 2963.84.125.
2963.84.125.047.0200 125 47 (52) 85 200 95 150 26 17.5 15 2
2963.84.125.047.0250 125 47 (52) 85 250 145 100 26 17.5 15 3
2963.84.125.047.0300 125 47 (52) 85 300 195 125 26 17.5 15 3
2963.84.125.052.0150 125 52 (57) 85 150 45 100 26 17.5 15 2
2963.84.125.052.0200 125 52 (57) 85 200 95 150 26 17.5 15 2 @
2963.84.125.052.0250 125 52 (57) 85 250 145 100 26 17.5 15 3
2963.84.125.052.0300 125 52 (57) 85 300 195 125 26 17.5 15 3

2963.85.
Holes for pins

[ @12 H7 /16 H7

+——b55 ——=—€ 00—

5x45°
—

120°

= R G ROAS

o

: OO
'J}_

3x45°
; rotating

(=25 €4 €1

Screws M12

*Screws M16
DIN EN ISO 4762

|——

2963.85. Prismatic guide, Steel, VDI 3357 Material:
Numb " Steel, sliding faces surface
umper O
Order No b h h  h hs | e e d d t screwholes hardened
2963.85.065.085.0160 65 35 (18) 17 65 150 45 100 20 135 8 2 Note:
2963.85.065.035.0200 65 35 (18) 17 65 200 95 150 20 135 8 2 Screws and pins are not included.
2963.85.065.035.0250 65 35 (18) 17 65 250 145 100 20 135 8 3
2963.85.065.035.0300 65 35 (18) 17/ 65 300 195 125 20 135 8 3 X
2963.85.125.060.0150 125 60 (33) 32 85 150 45 100 26 175 15 2 at 2963.85.125.
2963.85.125.060.0200 125 60 (33) 32 85 200 95 150 26 175 15 2
2063.85.125.060.0250 125 60  (33) 32 85 250 145 100 26 175 15 3
2963.85.125.060.0300 125 60 (33) 32 85 300 195 125 26 175 15 3
2063.85.125.060.0150.1 125 60 (28) 27 85 150 45 100 26 175 15 2
2063.85.125.060.0200.1 125 60 (28) 27 85 200 95 150 26 175 15 2
2963.85.125.060.0250.1 125 60 (28) 27 85 250 145 100 26 175 15 3
2063.85.125.060.0300.1 125 60 (28) 27 85 300 195 125 26 175 15 3

subject to alterations MFIBRO D263


https://www.de.shop.fibro.com/en/2963-84-
https://www.de.shop.fibro.com/en/2963-85-
https://fibro.partcommunity.com/?info=fibro/normalien/d/d06/d06_08/d06_08_03/2963-84.prj
https://fibro.partcommunity.com/?info=fibro/normalien/d/d06/d06_08/d06_08_03/2963-85.prj



